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fEn 0 0 1 380 0 0 0 0 168 206 0 0 0 45 35 798 0 1,182 0 0 409
wIkAE 15 20 60 201 0 0 0 62 201 201 0 0 0 201 189 201 62 201 0 0 201
IR K E 0 0 0 27 0 0 0 0 10 13 0 0 0 8 8 27 0 28 0 0 27
() HEBE 0 0 0 0 0 0 0 0 1,041 1,386 0 0 0 5, 130 598 4,461 0 0 0 0 0
0 0 0 1 =3 0 0 0 0 5 3 T 3 0 0 0 18 =3 3 3 18 =3 0 5 3 0 0 2 x3
#E 15 20 62 609 3 0 0 0 62 1,425 3 1,813 0 0 0 5,402 3 833 *3 5,505 *3 62 1,416 * 0 0 639 3
1 6 54 1,572 0 0 0 24 787 890 0 0 0 208 1.2 257 *1,2 1,681 *1,2 50 3,133 0 0 1,679
S 19 25 75 251 0 0 0 77 229 221 0 0 0 176 =12 228 1,2 178 *1,2 77 251 0 0 251
o) 0 0 1 62 0 0 0 0 24 31 0 0 0 19 19 64 0 65 0 0 64
0 0 0 0 0 0 0 0 42 1,651 0 0 0 1,675 *1,2 3,391 *1,2 2,370 *1,2 0 0 0 0 0
19 31 130 1,884 0 0 0 102 1,082 2,793 0 0 0 2,077 *L2 3,895 1,2 4,293 *1,2 127 3, 448 0 0 1,993
Yl 0 0 2 0 2 5 1 0 0 0 0 1 * 2 ¥l 0 0 0 0 x2 0 2 15 1 0 25 *1 0 0 6 *l
TR HE 0 0 #l 0 *l 2 #l 0 0 0 0 1 = 1 = 0 0 0 1 = 1 = 2 #l 0 2 *l 0 0 2
eI HEBE 0 0 0 0 0 0 0 0 1,482 =2 1,625 =2 0 0 0 479 %1 187 =1 1,795 =2 0 0 0 0 0
(N) iU kK 0 0 0 *3 0 *3 0 0 0 0 3 0 3 0 3 0 0 0 1 3 0 3 1 *3 0 3 0 *3 0 0 0 3
7oy 7 0 0 =3 0 =3 0 =3 0 0 0 0 *3 0 #3 0 #3 0 0 0 0 *3 0 #3 1 3 0 *3 1 *3 0 0 0 =3
aat 0 0 *1 0 3 7 #l 0 0 0 0 3 1,484 2 1,628 2 0 0 0 480 %1 188 *1 1,808 #2 0 3 28 %1 0 0 8 xl
RS 0 %2 1 %2 12 %2 354 1 0 0 0 5 *2 178 *2 203 *2 0 0 0 52 *2 60 *2 449 x1 11 =2 794 x1 0 0 380 I
TR HE 0 0 #1 0 *l 3 #l 0 0 0 0 1 = 1 = 0 0 0 1 = 1 = 3 #l 0 3 #l 0 0 3
AGHE HEBE 0 0 0 0 0 0 0 0 2,280 2 5,015 *2 0 0 0 7,057 *1 4,653 *1 7,941 *2 0 0 0 0 0
(N) HRK I 0 0 0 3 1 #3 0 0 0 0 *3 2 % 2 % 0 0 0 5 #3 1 =3 5 *3 0 *3 2 #3 0 0 1 =3
7oy 7 0 0 =3 1 =3 15 #3 0 0 0 0 #3 11 #3 12 #3 0 0 0 6 *3 5 #3 21 #3 1 3 25 #3 0 0 16 *3
it 0 *2 1 x2 12 %2 357 #1 0 0 0 6 %2 2,462 *2 5,223 *2 0 0 0 7,102 4,705 *1 8,389 *2 11 =2 797 *1 0 0 383 I
Yl 0 0 2 0 2 44 %2 0 0 0 0 21 *2 25 2 0 0 0 6 2 4 x2 87 x2 0 123 x2 0 0 47 2
UNOLES TR HE 0 0 #1 0 # 1 # 0 0 0 0 1 = 1 = 0 0 0 0 *1 0 *1 2 #l 0 2 #l 0 0 2
REFE | 0 0 0 0 0 0 0 0 776 %2 1,708 #2 0 0 0 2,400 *1 1,583 #1 2,707 *2 0 0 0 0 0
(N) HERKH 0 0 0 *3 0 *3 0 0 0 0 #3 1 =3 1 =3 0 0 0 1o 0 #3 1 = 0 #3 1 =3 0 0 0 3
7oy 7 0 0 =3 0 =3 6 *3 0 0 0 0 *3 4 %3 5 %3 0 0 0 2 #3 2 %3 8 =3 0 *3 10 #3 0 0 6 3
arat 0 0 3 1 %3 47 x2 0 0 0 0 *3 799 2 1,735 =2 0 0 0 2,405 *1 1,587 =l 2,798 *2 0 3 127 %2 0 0 50 2
EYEE 0 2 1 %2 12 2 317 #1 0 0 0 5 x2 158 #2 178 2 0 0 0 46 2 56 x2 369 *1 11 =2 674 *1 0 0 340 *1
TR gE 0 0 #l 0 #l 1 # 0 0 0 0 1 = 1 = 0 0 0 [ 0 *l 2 *l 0 2 *l 0 0 2
WA F R 0 0 0 0 0 0 0 0 1,503 #2 3,307 *2 0 0 0 4,657 *1 3,070 *1 5,233 *2 0 0 0 0 0
(N) HERK S 0 0 0 *3 1 #3 0 0 0 0 #3 1 =3 2 # 0 0 0 4 % 1 =3 4 % 0 #3 1 =3 0 0 1 =3
7oy 7 0 0 =3 0 =3 9 =3 0 0 0 0 #3 T *3 T *3 0 0 0 4 %3 3 %3 13 #3 0 #3 15 #3 0 0 10 #3
Gt 0 *2 1 x2 12 %2 319 #1 0 0 0 5 *2 1,664 =2 3,488 *2 0 0 0 4,697 *1 3,118 1 5,591 *2 11 =2 676 *1 0 0 341 *1
TERONE B (HE 0 0 2 0 *2 143 %2 0 0 0 0 64 *2 77 %2 0 0 0 18 #2 14 =2 280 *2 0 426 *1 0 0 153 2
N HEBE 0 0 0 0 0 0 0 0 31 *2 262 *2 0 0 0 2,702 %2 1,190 =2 2,475 *2 0 0 0 0 0
HBICPE S EHRFR (N 0 0 0 0 0 0 0 0 3,761 *2 6,640 *2 0 0 0 7,536 xl 4,840 *1 9,736 *2 0 0 0 0 0
[EA 0 0 0 41, 403 0 0 0 0 24, 654 29, 810 0 0 0 18, 545 4,230 54, 498 0 55, 366 0 0 43, 338
Lok Wik AR 1TH% 0 0 0 39, 409 0 0 0 0 23, 051 28,011 0 0 0 18, 231 3,996 53, 609 0 54, 399 0 0 41, 464
. (N) LI 1% 0 0 0 27,925 0 0 0 0 14,977 18, 681 0 0 0 16, 709 2,647 46, 868 0 46, 299 0 0 30, 463
1y Atk 0 0 0 5,017 0 0 0 0 4,326 5, 697 0 0 0 15, 680 1,827 22, 247 0 12,512 0 0 6, 044
[EA 1, 600 3,411 5, 088 10, 581 0 0 0 4, 881 10, 651 23, 960 0 0 0 25, 972 22, 644 26, 546 5,071 11,562 0 0 10, 607
T XEEAR 1A% 1,341 2, 863 4,277 8,916 0 0 0 4,132 9,289 20, 638 0 0 0 23, 359 19, 266 23, 696 4,277 9,749 0 0 8, 952
(N) LI % 507 1,051 1,558 3,226 0 0 0 1,486 4,585 9,044 0 0 0 14, 448 7,633 13, 760 1,558 3,515 0 0 3,226
1y Atk 36 36 36 72 0 0 0 36 1,976 2,675 0 0 0 9,509 1, 236 8, 287 36 72 0 0 72
% 0 0 0 3, 107 0 0 0 0 4,641 6, 162 0 0 0 11,041 3 1,677 =3 13,497 3 0 5, 822 0 0 3, 380
TATTA ey LH#% 0 0 0 225 0 0 0 0 1,721 2,286 0 0 0 7,570 905 7,044 0 422 0 0 253
eE = L[ #% 0 0 0 0 0 0 0 0 1,481 1,972 0 0 0 7,299 850 6, 456 0 0 0 0 0
1y Atk 0 0 0 0 0 0 0 0 1,481 1,972 0 0 0 7,299 850 6, 347 0 0 0 0 0
% 0 0 0 2,274 0 0 0 0 3, 950 5,322 0 0 0 11,003 1,732 11,871 0 4,302 0 0 2,479
i AEERHE 1 H % 0 0 0 2,089 0 0 0 0 3,717 5,017 0 0 0 10, 548 1,632 11,284 0 3,974 0 0 2,274
(1) LI % 0 0 0 307 0 0 0 0 1, 466 1, 969 0 0 0 6, 088 778 5, 604 0 594 0 0 328
1y Atk 0 0 0 164 0 0 0 0 1,272 1,702 0 0 0 5, 709 699 5,113 0 287 0 0 164
% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
it A 2 XhEF% 104 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(F) L[ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1y Ak 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W Lé% l_(M'Fﬁ)M 2 5 18 69 0 0 0 16 69 77 0 0 0 59 52 95 17 74 0 0 72
S R Lé%bmig (& H1) 12 12 12 47 12 12 12 12 44 45 12 12 12 43 35 49 12 49 12 12 48
it - g TS (D) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0
S s (65 T) 0 0 0 4 0 0 0 0 5 6 0 0 0 2 0 11 0 8 0 0 5
fp () L8H 0 0 0 4,836 *3 0 0 0 0 15,715 3 39,482 3 0 0 0 59, 986 3 0 109,760 *3 0 0 0 0 95 3
4~TH 59 3 112 3 65 3 40, 619 0 0 0 0 46, 579 104, 009 0 0 0 146,739 3 0 212,451 =3 481 73,081 *3 0 0 43, 878
AETERERE SR (AR i okhk (1) [L3H 0 0 0 232, 241 0 0 0 0 132, 955 157, 092 0 0 0 78, 699 0 323, 552 0 315, 669 0 0 237, 042
T A~TH 0 0 0 395, 116 0 0 0 0 218, 201 269, 869 0 0 0 207, 093 22, 774 602, 443 0 606, 002 0 0 424, 129
EAi (BO 0 0 37 3 1,527 3 0 0 0 0 6,015 +2,3] 20,318 =3 0 0 0 26, 699 3 19,814 3 34,517 *3 35 3,220 *3 0 0 1,617
[ S LB A 0 0 0 5 0 0 0 0 11 14 0 0 0 41 3 6 *3 41 3 0 11 0 0 5
REpERp@E (00 HEBHEREY) A 0 0 0 0 0 0 0 0 41 76 0 0 0 50 39 97 0 0 0 0 0
ST 1H% 13 20 68 812 0 0 0 62 3, 056 10, 223 0 0 0 13,496 3 10,524 3 17,306 *3 68 1, 666 0 0 856
00 LI % 11 16 57 4, 255 0 0 0 51 3, 362 5, 080 0 0 0 7,829 3 2,382 3 12,930 *3 56 7,178 0 0 4,612
B 1y Atk 7 10 34 1,795 0 0 0 31 1,742 2, 409 0 0 0 5,845 3 1,209 =3 7,704 *3 34 4,213 0 0 2, 099
) — LH#% 9 13 45 541 0 0 0 41 1,597 5, 181 0 0 0 6,781 *3 5,299 *3 8,776 *3 45 1,111 0 0 571
(’j\') L % 11 16 57 4, 255 0 0 0 51 2,292 2,493 0 0 0 2,308 *3 658 *3 5,080 *3 56 7,178 0 0 4,612
1y Atk 16 23 79 4,188 0 0 0 72 4, 065 5,620 0 0 0 13,637 *3 2,821 3 17,977 3 79 9,829 0 0 4,898
LH#% 3 4 14 172 0 0 0 13 649 2,170 0 0 0 2,865 3 2,234 3 3,674 *3 14 354 0 0 182
SEREREFE (N A% 2 3 12 903 0 0 0 11 714 1,078 0 0 0 1,662 506 *3 2,745 *3 12 1,524 0 0 979
1y Atk 1 2 7 381 0 0 0 7 370 511 0 0 0 1,241 =3 257 *3 1,635 *3 7 894 0 0 446
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